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DcﬁanlLLEconomlc_szvth It is an increase in the real GDP (national output) of a country
over a period of time,

1. TYPES OF ECONOMIC GROWTH
There TWQ types of economic growth:
i) Short Run Economic Growth, which in the increase in the actual GDP in a year.

ii) Long Run Economic Growth This is the potential GDP over many years. Economic growth
can be calculated with the following formulae: P
Rate of Economic Growth = E‘D—PE;,,-I—— x 100
2. TYPES OF ECONOMIC GROWTH
There are TWO types of Economic Growth:
1. Actual (Short-Run)
2. Potential (Long-Run)
NOMIC GROWTH
&mﬁglfg?:};‘dﬁgnfgge in actual real GDP in a year. This can be shown by the
following diagrams:
° 1.PPC
2. AD/AS Model [Keynesian Diagram]
3. AD/AS Model [Monetarists Diagram]
4. Keynesian-Cross Diagram
- . Bus}jlle;;gﬂ:le 2. AD/AS Model 3. AD/AS Model : 4. Keylfesian-Cross
e lKe;'uesian Diagram] |Monetarists Diagram] _ Dlagram‘wﬂ
Y AS LRAS r_,.',--—
oy _ A —‘“"“L\ — SN
\ : ‘s R \\\ j -si"z — ‘\'\ ! ’]// i —_—
- N S Bl \\.\-:/:\\ ‘g_ SN = 7§
AT o O SN |
X \ (N s A e
. - ) g 7 22 0 Y,  real GOP s et
Ublize regow e

1. Short-Run Causes ’ : u,[. { ecd (Lo’
. 1. Expansionary Fiscal Policy 2ol : ta xé] & Py P
rFirv? This involves reducing taxes and increasing govt. spending. These can include:

Con‘my (1) If direct taxes are lowered it would result in more profits for compames which would increase
hatem investments (1) along with more salaries for workers which would increase consumption (C).
nCont ‘, (2) Furthermore indirect taxes can also result in ‘?gchcaper goods leading to greater demand.
yeimx/{ (3) Along with that tariffs could be 1m$8<‘”ﬂeo foreign goods to protect domestic producers and
reduce 1mpons Lower the lmpons higher would be the local demand and greater wopld be th

c?:onoml growth. jf L ,, f(gz’/}. ,,‘iﬁ ﬁ&_ﬁ'g[,# et n.cyw

ex/m/ 0 fou ke,
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2. Expansionary Monetary Policy nd dcprCCiﬂti"g exchange

This involves reducing interest rates,

These can include: he interes
(1) Interest is regarded as price of money. Lower the In

. 1 u
customers can casily borrow from the banks w}nch would, :\nﬁ;’?—aﬁ?
also borrow cheaply. ko cordvmpira” n . bu

: . firms can buy
(2) More the money su%ply customers and companics can sF:end more €.8
expensive machinery, customers can buy luxuries more easily. . M) to be
i s
(3) Lowering the exchange rate would cause exports (X) to be cheaper and imports (M)

) . h -

expensive. The next effect would cause the AD 1o increase and result in econpmig growiiisy ﬂU
(9’)‘)6—0\:{‘ S ;}'.) o re cate ity Mgv,%q?‘dros (%’I)SW_EDM , %M

2. POTENTIAL / LONG RUN ECONOMIC GROWTH (5" of C' emplo 4t wedowred
Definition: In the long run when the potential of a country to produce goqu increase eitner ¢
an increase in the quality or the quality of its factors of production which increases 1
capacity. This can be shown by the following diagrams:
1.PPC
2. AD/AS Model [Keynesian Diagram]
3. AD/AS Model [Monetarists Diagram])
4. Keynesian-Cross Diagram
5. Business Cycle

increasing moncy supply 2
demand. As it

e greater the
t rat g tion (C), ﬁms can

s productive ’

1. PPC 2. AD/AS Model 3. AD/AS Model 4. Keynesian-Cross
' ' |Keynesian Diagram] |Monetarists Diagram| Diagram
AS) A5 LRAS, LRAS, vl 45 b

price level
price level
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5. Business Cycle

real GOP actually achieved

P“\t contraction S A=
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& oot \ e - long term growth trend,
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1. Increase in t} M(’b\,{'('oh evore f'? ) s Oa/w""’/(/
gy hql:; sein tlm quantity of resources ‘; / ?‘t
s happens when ; . - al i

productive capac 11‘! the factors of production, namely Land, Labor, Capital increase, the
(1) When captual ty o the country will increase which will be a source of economic growth,
This lower c pialincreases it results in reduction is average costs due 1o technical economics.
2) When ost increases the production and hence higher AD. - '
. e working population incyease it incpease, the labor fprce and henee ingreas ‘P
( ; n%?]nl output, [) we. lv L j'r?v QJ,,C,,};(.\ mOP rema piff’ o

) When land and raw material P;'crcnscs more goods gan be roduced, hence ihcréasing the ‘_

ch coM!

ds ga
overall output. | i o N‘f’” A ‘
i HQFPQJ\%LV Wl-o';mj g\ﬁ!é:xp 0 'F Clﬂaofb er) bo(,'uw
2. Increase in the productivity of resources e/jm% 0‘: %ﬁﬁ&mf’ﬁ onhe
Technological improvements can increase the productivity of capital. Superior machines produce’ @ ér/l).'uj '
large quantities, bring the overall cost down. Furthermore, with labor training programs, bj ;k
t_:ducation, better licalth the productivity of labor will also go up. Increased productivity in return $ a/“r
increases the potential GDP. '_0
horprie
3. Reallocation of resources
A country can raise its GDP by reallocation of resources from less productive to more productive
o capital goods, because capital goods have a

sectors. Example: Shift from producing consumers t
higher added value. Furthermore, they can move from low productive sectors like primary to

high productive sectors like secondary and tertiary.
- H,Q [ run OAJ ‘W er

4. Supply-Side policies &e»e(o ko LOO 1!‘ AS A4 Q"ﬂ J:’LQ C m/

These are the policies that increase F

1. Improvement in education f é‘ l\"

2. Reforming trade unions to m

3. Privatization i
4. Cut welfare payments to increase the incentive Ct}(Lwork &

5. Subsidies mm}- ; ,J,],(c 3 ® 0
T 47Tk mf B o “ud A b

5. Harrod-Domar Model of Economic Growth’ N
This is a model of economic growth that emphases the importance of savings and investment.

This model attempts to develop how equilibrium could be achieved in a growing economy. This
model emphasized the importance of savings in the process of economic growth and concluded

that a country seeking economic growth must first increase its flow of savings. However this

model is less effective in LEDCs because: !
is made is mostly used in consumption.

1. Generation incomes is difficult and whatever 1
2. These economies have underdeveloped financial markets making it difficult for funds to be

recycled.
3. Some governments keep the interest rates low to increase borrowing this leads to low savings

4. These economies also lack entrepreneurs who can start businesses with these loans

o (inalpc
@“ @«llw

the overall supply in the cconomy. Methods can include:

0
econ

ake labor markets more competitive
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2. Advantages a

- This leads to a in Qo

economy is growing the literacy rates increase, while
infant mortality and death rates should fall. This
increases the quality of labor force and also reduces
onomy for health care in the long-

3_Increased Tax Revenue: Since the output would be

more the govemnment will gain higher tax revenue
om direct taxes and indirect taxes. Direct taxes will
increase since firms and consumer’s profits and
incomes increase respectively. Furthermore, since
more goods would be consumed more revenue would
be gained from indirect taxes which can fund
hospitals, schools and infrastructure in the economy
and leads a more even distribution of income in the

conomy. =
tj{l._lncmased Business Confidence: This growth L

encourages business to take a positive view of the
economy and to want to invest, innovate, and use
ore technology this would increase investment in
the economy. Furthermore, consumers would spend
more increasing the AD. '

5. Avoid Macroeconomic Problems: When people
want higher standard of living they demand higher .
wages which can lead o BOP deficits, inflation and *
industrial disputes. However, if long-term policies are
implemented then the AS shifts outwards and helps
the economy to avoid such problems by increasing
employment and output while reducing prices and the

omic Growth
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Disadvantages
age: This results from more
rs etc. Damage to the

from factories, €@ I
n ting minerals resources

pollulio

ot duction of
reducing in absolute poverty and more pro by extrac
consum%:r goods which would encourage n;:‘)re ﬁ natju{alt?r?::?;‘pdeep{etioﬁ o T -renewable resources
sume choi 9 @] and In i d also put
T n}?/d(]ﬁl CC-U:\ g,é% Q‘h ‘9 W "C—E\ &" A night harm the future growth potle n“:;]'_: lijssue P
e‘} 4 SENUTICe the pressure on the government 10 solve thi ;

- If a country is on its PPC then
oods will lead to loss of
This would reduce the

e current consumption

reallocation to capital g

consumer goods today. 1T

standard of living today sinc

will fall. _
- Growth will

n changes in economic structure anfd

leading to some people becoming

hers gain from work. Some

ress to learn new skills and

result in rich might

ht start getting poor if

hieve this growth.

likely to result i
ways of production,
unemployed while ot
workers might be in st
longer working hours. This can
start getting richer and poor mig
reduction in taxes was used to ac

4 Lawer Quality of Life: Due to rapid urbanization
citiewndwétﬁliﬁess
breakdown of family networks and might result in
moré income but poor quatity of fife: Furthermore, an

,__,/_'\. . - .
excess of AD might lead to high level of inflation
future adding to the problem.

5_Impors Increases: Since people are earning more
they might shift their demand from local products to
imported on
qeccovas-eJ”

6. Low Foreign investment: Since employment is
increasing wages tend to go up. This might result
foreign firms from investing the home country fearing

same time.

high cost of pr N/ e,
@"%‘ﬁlj'l‘e . )v% ¢

oF' g '

e}$§u tlcn)g(:‘ln a deficit in the BO&P.Cury e

S

“"._‘,:)Q/
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Evaluation of Economit Growth

So shoul
1. What Costs and Benefits are involved (

2. Can opposing views be reconciled -~ l%
3. Depends on which method is used to achieve economic
4. Availability of resources De e onr how muc!

d countries pursue economic growth? The answer

LAk dgpends on l‘lJe following variables:
M Vi envitn
od Gan ‘l*gmaflrgoa Jb% ,'Vew
¢

Gono

view g (2 cona
growth | y C-OV"A) C{iévg& s &Nﬂ Y
rejsurce g ??Qr‘frcu}b A iste bgfgg@{f ‘l;{h« N

To (_:onclude the gover_nment.c n view this dilemma as constrained optimization. It 'cai”set constraints, level of
envnronm.er?tal proaecinon, minimum wages, maximum rates of depletion of non-renewable resources c:.lc Itth
seeks policies that will maximize growth while keeping within the constraints - "

I Lecture 1 l
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?re enjoying or standard of Ilvrn& rStaI?dard e Ing 's the level of happiness citizens of a nation
O measure standarq of livin 8 13 the level of well-being of a nation. The are several methon

1. Real GDp per Capitaf g and cconomic dcvelopmeJll Nommal Ghe- 79J7J

2. Net Economie
Welfar )
3. Human Development Tn(;g\iliW) or Measurable Economic Welfare (MEW) }gg Ol/‘j

4. N
umber of Consumer Durables per person ?/‘0 v b

5. Human Poverty I
ndex
6. Multidimensional Poverty Index C@V) ¢ @/ﬂf//

7. Qualitative Factors @0@ Aﬁ m{%p/
1. Real GDP per Capital - ' di I'W o 01@&

Definition: Real GDP per capita is a measurement ofthe total economic output of a country quj

beiw
/

divided by the number of people and adjusted for inflation. It's used to compare the standard o
living between countries and over time. It is better than simple GDP because it takes inflatio

and population into consideration. It can be calculated with the following formulae: owf‘uQ/

Real GDP per Capita = Real GDP (GDP Adjusted I'orlnﬂauon) (f‘ V‘€ h)

Population Lec (") 04

Problems comparing national income figures between countries 4(;(
Problem Factors
1 Common u enc ,The income figures of each country have to be converted into a common fa‘f

”}& currency. It can be difficult deciding what value to use, because the doe)

nol’ conbl(/

value of exchange rate is often changing all time.

/2. leferent 'fy (JAccountmg techmques vary between countries which can alter the way ‘R\O\}:OP

accounting techniques | in which income is calculated. - _

'| 3. Price Levels It is important to take price level into account as well as nominal income

- _ fi gures A country may have less average income but also lower prices.
4. Composition of - | The composition of output may vary considerably. One country may be
output(QrIvp4/ V@fnl%(spendmg on defense, another may be producing consumer goods. The

/| one with consumer goods would have a higher standard of living.

5. Barter 1 Some economies have much more barter and a greater black economy
(illegal) than others. Hence the output in the barter one might be more

but it won’f be,recorded. =y

’ J A ,
N od :llzy( @c@n%‘% of Ads Flgw‘/
2. Net Economic Welfare (NEW) or Measurable Economic We are (IV

Definition: Net Economic Welfare (NEW) is an adjusted measure of GDP that includes not only
consumption and investment items but also all monetary and non-monetary factors that

contribute directly to economic well-being.
Additions (+) Subtractions (-)

1. Value of Leisure Time: Working fewer hoursto | 1. Congestion

get satisfaction from leisure 2. Pollution

2. Unpald Jobs: These include cooking meals 3. Depletion of natural resources
3. Income Inequality 4. Crime A

4. 11legal Goods: These include selling of drugs 5. Traffic accidents

5. Legal Goods: These include carpenter doing
work without reporting to the government. )
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..-""" e - ﬂSilc indej ﬂr
. Human Developmenl Index Index {”Dn isa siatistic ©
Definition: The Human Develapment
(i) Life fxrlfclnnr_}-fﬂijﬁfﬁfz"" "
(i) lﬁ]llc;lll'l}n/ Ll.er.'-? i A coun
11 a & 5 mcn
(iii) GDP per enpita income indicators, four liers of human d;vel_ﬂ[;cr and \he GDP per
These variablcs arc used ta rank countries into 10U o level s higher, ) ver The
e gnec DL whua b I bighen Ihclc'l;ir standord of |iflﬂg.‘1!ﬂ = leged i
capita is higher and is generally classified to have a il o ounds, includin .

4 numbc 2 -E-c variables like incom

ther qun]ilﬂ"

Human Development Index has been criticized on
d culural differences.
___._.—'_.-'_

of considerntion of technological development or ©
distribulion, human rights, environmental issues an

4. Number of Consumer Durables per person pot have 10 be
Definition: Consumer durables are a category of cansumer products that ddgf rime (typically
purchased frequently because they are made to last for an e:f!r,ndml perio polia Lsuallly
more than three years), Example: TVs, Cars, Mobiles cic. Since r.:c_rnsulmer e purchases
Il typically ma h. when

[ economic Erowl

represent big-ticket items, both consumers and businesses Wi
d for durable goods

anly when they are confident they can afford them. During a period 0
consumers have more confidence in the economy, there's an increased deman

which will mark a higher standard of living.
3. Human Poverty Index — Lever dhe Eate, 7Ae Ber—

Definition: The Human Poverty Index (HP1) was an indication of the standard of fiving ina
country, developed by the United Nations (UN) to complement the Human Development Index
(HDI). The HPI concentrates on the deprivation in the three essential elements af human life
already reflected in the HDI: longevity (Probability at birth of not surviving to 40), know'edge
{Adult literacy) and health care (improved water and children who are underweight). The HPI is

derived separately for developing countries (HPI-1) and a group of select high-income OECD
countries (F1P1-2) to beter reflect socio-cconomic differences and also the widely different

—

measures of deprivation in the two groups. | _-" _ ,

6. Multidimensional Poverty Index Lewtr #e feles
Definition: The Multidimensional Poverty Index (MPI) was developed in 2010 by the Oxford
Poverty & Human Development Initiative (OPHI) and the United Nations Development Program and

uses difTerent factors to determine poverty beyond income-based lists. It replaced the previous
Human Poverty Index. It complements traditional income-based poverty measures by capturing the
severe deprivalions that each person laces a1 the same lime with respect to education, health and
living standards. The MPI assesses poverty at the individual level. If someone is deprived in a third
or more of len (weighted) indicalors, the global index identifies them as ‘MP| poor’, and the extent —
or intensity —of their poverty is measured by the number of deprivalions they are experiencing. The
MPI can be used (o create a comprehensive picture of people living in poverty, and permits
comparisons both across countries, regions and the world and within countries by ethnic group,
urban/rural location, as well as other key household and community characteristics. Their indicators

include:
Dimension Indicators
1. Heallh 1. Child Monality 2. Nutrilion
2. Education 1. Years of Schooling 2. School Attendance
3. Living Standards I. Cooking fuel 2. Toilet 3. Water 4. Electricity 5. Floor 6. Assels
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7. Qualitative Factors of Standard of Living

Factors

Description

1. Hidden informal or
underground economy

These terms refer to economic activity that is not declared and so
will not be included in the official GDP data. Hence this should be

calculated to-get a proper understanding of the economy.

2. The level of Literacy

Total number of literate persons in a given age group, expressed as
a percentage of the total population in that age group. Hence higher

the literacy greater the SOL. ]

3. Government Spending

Itis difficult to calculate the government spending because it is not
always easy to value the output of something that is not sold in the
market. Hence higher the govt. spending greater would be the SOL.

4. Sustainability

A country that is experiencing high level of economic growth
would be experiencing increased SOL in the short-run but if it is
not conserving its resources this would lead to natural resources
being depleted in the long-run with higher pollution and lower SOL

in the future.

5. Unequal Distribution of

The greater the distribution of income in the céunrry higher would
be the SOL.

Income ]
6. Products Produced

The composition of the GDP will also indicate the SOL. A country
producing more military goods would have a lower standard of
living as compared to a country that is producing more merit goods.

7. Contrast between
consumer and capital

A rise in the SOL will come as a result of an increase in consumer
goods available. However it should be noted that in the short-run
the country must produce capital goods to make this happen.

goods )
8. Quantity and Quality of | GDP only measures the quantity. The quality of output should
Output always be taken into consideration.

9. Effect of Exchange
Rate

2| any comparison. Ec
| power parities.

It is necessary to take into account the effect of changes in the
exchange rates between countries which would otherwise distort
onomists achieve this through the purchasing

—|-10. Working hours and
working conditions

The way that output is produced should also be taken into
considerations. Example: A country’s output may have increased
substantially but only at a accost of a significant increase in
working hours and a deterioration in working conditions.

11. Political Freedom

Political freedoms and civil/human rights also need to be taken into
account when assessing the quality of life in different parts of the
world. '
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TOPIC 3: ECONOMIC DEVELOPMERE - o
Definition | Economicdexelopment: It is the process by whichl [ counlries:
litical, and social well-being of its people. Key classifications of coUMACE: ——"7"
Classification Description lopi
- as dc\.l'c Dplng
¢ countrics are often referred 1'iE[l\f:sJ- In these

I. LECDs Low and middle-incom :
L'n‘ £ L0t I}'_-.-l’tr.l'f_‘_" Mmic:ﬂ]y d':'-'ﬂlﬂpﬂd countrics (rl- A ) cncrﬂ”? .
counlTFics, the per capita income is low and standard of living 15 & e ngrc
developed cconom!
these countries GDP per

osperity. _
xists W'Ith a

2. MEDCs High income countries are often referred lo a5
cconomically developed countrics (MEDCs). In th
capital is high and there is high degree of economic pr

2 o This is the one in which a traditional mainly rural sector €o-¢
Economies modem mainlv urban sector. ' -
the countries of Brazil, Russ ,or

4. BRICS BRICS is a grouping acronym that refers 1o L
India and China, South Africa which are all deemed lo be at a similar stage

newly advanced economic development. .
n East Asia who have

5. Tiger These are group of newly industrialized economies i _
es produced high quality

Economics expericneed rapid cconomic growth. These economi
products through specialization and achieve massive EOS. This enabled them J

1 to enjoy a period of export led prowth.
7 {ess ef oot frootl e S

?;ﬂ-ﬂ f-'."t ml -r""fl & ﬂlﬂ?.i 3
F DEVELOPED AND DEVELOPING ECONQMICS
Mlice o 1l

I. CHARACTERISTICS

1. Real GDP per Capita

Definition: Real GDP per capita is-a-measurement-of-the-total-economic-output of a country
divided by the number of people and adjusted for inflation. It's u;ed,tn_cumpn[c_lllc_s_tugdnrd of

living and cconomijc development-between-countries and over time. It is better than simple GDP
= = . P Lk N - .
because it lakes inflation and population into consideration. Developed economies tend to

produce more teriary seclor output which are of high economic valye as a result these
cconomies tend to have a higher GDP per capita as compared 1o developing economies which
reply on primary scclor output which js of low economic value, - _

— N G R e R

HE N Y =1

2, Population Growlh
Birth rate and death rates are two key factors in population growth, As countries develop, health

L : - ; A
ol d o and education services improve, leading to lower birth and death rates. Also important is the
ortaljty rate. Improved health care will lead to a decline in infant mortality rate. The

.Li*’n‘."" ":-_._;} ﬂﬂ’.ﬂlﬂl
greater the difference between birth and death rate the higher is the population growth, This

.J .fl-r";:-"
difference is called the natural increase.
The developed countries have low birth and death rates with only a small increase, whereas

developing countries have high birth and death rate and large increase in population,

Note: Recently two groups of countries have been identified as having going beyond the
developing state. There are BRICS countries (Brazil, Russia, India, China, South Africa) and the
MINT countries (Mcxico, Indonesia, Nigeria, and Turkey). Their birth rate are higher than
developed countries but less than the developing.

In addition, migration plays a part in determining population growth. In many developing
countries there is often a net outflow, emigration of people seeking employment and higher SOL
in other countries, whereas in countries such as the USA there is net inflow or immigration.
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4. Income Distribution

Inc?me distribution is the smoothness or equality with which income is dealt out among members of a
society. Ifeveryo.ne earns exactly the same amount of money, then the income distribution is perfectly
equal. In developing countries there is a wide gap between the richest and the poorest. The rich usually
have a large percentage of money income (e.g. 40%) whereas the poor have approx. (10%).

Qne way of comparing this is using the Gini Coefficient. The developed countries have lower level of
income inequality (lower Gini coefficient) where in developing countries there is a high level if income
inequality (higher Gini Coefficient). It should be noted that once countries are developing rapidly like
BRICS countries initially there is high level of income inequality but in the long run it improves.

(Kuznets curve)

.-~ 5. Economic Structure T
As countries develop, the primary sector becomes less important in terms of contribution to GNP and

employment and secondary and tertiary sectors become more important. In developed economies the
tertiary sector has continued to'grow while secondary sector has declined. This is because developed
countries want to move towards the most productive tertiary sector and tend to outsource production to
developing economies where there are cheap factors of production.

6. Employment Composition
In developing countries, a high portion of their employment is in the primary sector. As countries develop
their industry employment increases in the secondary sector and once it reaches high development it into
the tertiary sector. The reasons are that economic development not only leads to greater demand for
services such as education and health but also greater mechanization and automation of manufacturing

this leading to greater employment in that sector. \ .
bed Yo, cxpodt moe afw
0"\7) | »Lu{) V-t- $@.co g\!v WVBW

Deuelvrgé fecaon om9)
lize

on exports of primary products, but as they grow they start to specia l
(}UQ 0!7 Py
/ Y

f trade of primary goods tend to worsen against
manufactured goods so these countries receive a lower price for exports and pay a higher price for X ~
imports, while the supply and demand for primary products are generally inelastic. 4oL
While developing countries exports usually primary and are usually reliant on one export the developed
countries tend to export secondly and tertiary and have a lot of variety. Example: China’s 90% exports are 1 ~ o N

manufactured goods whereas Nigeria 95% exports are petroleum.

7. External Trade
Developing countries rely heavily
in manufactured products. This is because terms 0
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d cities. The portion of people
that the developed ones.
J-urban migration which can

8. Urbanization ,
It is the increase in the population of people living in towns 4n

who live in rural arcas tend to be higher in developing countries
Furthermore usually in developing countries there is a lot of rura
pressure on the resources in the urban arcas.

put

9. Dependency L. .
Many developing countries have become dependent on developed countries. This 1s mainly :
because of MNCs as although these companies bring embayment however they destroy t.he loca
businesses which leads to less production by the local firms. This leads to the country being
dependent on these firms and suffer long-run economic drains when these MNCs shift profits

back to their home countries.
10. Extérnil Debt -
Developing countrics have high level of external debt and debt repayments as a percentage of
their GDP. This is because they usually don’t produce enough and have to borrow from
organizations like World Bank and IMF to fulfil their needs. Whereas developed countries tend
to fund their growth options with tlh(:ir resources however 'lf;:,l}cy taki a loan it is usually a small
ercentage of their GDP. clee +t0 Ehi' e .
percentag hiy Jo oy w7

AdweL90™ o con omizd X /
11.s«>cialo‘}/ “‘P"'gﬂwc %95“‘ *P"?‘:ja (%r\vl\ Cha coy

Economically developing countries have greater social problems. These include high crime rates,
poor quality of water, lack of jobs. This is because the governments are usually focused on
fulfilling the basic needs that there is less concentration on human development. Whereas for
developed countries the governments usually try to subsidics important areas like education,
police, etc. which results a higher quality of life. This can be seen by HDI. Developed countries

have a higher HDI whereas developing ones are low in it.

Summary of the LEDCs and MEDCs

Features of MEDCs

Features of LEDCs

1. Less GDP per capita

2. Low life expectancy

3. Low Literacy rates

4, High population growth

5. Poor Infrastructure

0. Low foreign direct investment
7. Poor health care

8. Low Labor Productivity

9. High Public Debt

10. Reliance of Primary output
11. Corruption

12. Low HDI

13. High degree of income inequality

1.High GDP per capita

2. High life expectancy

3. High Literacy rates

4. Low population growth

5. Better Infrastructure

6. High forcign direct investment

7. Good health care

8. High Labor Productivity

9. Low Public Debt _

1\0. Reliance of Secondary and Tertiary output
l}{ Low Corruption / Strong law

c}orccmcnt
12/ High HDI

13. Low degree of income inequality
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Problems to

Factor

1. Poor Natural
Resources

2. Lack of
investment

3. Lack of developed
financial markets

4. Lack of human
capital

achieve development for d

5. High Population

A2/MACRO — [NOTES) — CHAPTER |

eveloping ¢ i
Description PIng countries
This results |
inlow productivity ; i
Ity 1 g
]fad low value added poods Y in the primary sector and less quality products
OW investment lead
N stolo i o
will mean low ine. wloutpl.n which leads to low productivity. Low output
hence inveq) mes and when incomes are low this will lead to less savings
mtcs.mcnlcontmues to fall. This creates a yjciou over
- A
discomggc n tf:nns of number and range of financial institutions tends to
borony 8¢ saving and make it more difficult to channel funds from savers to
s.

As the labor is not trained and due to less output there not only unemployment it
lead§ to lower productivity and the country won’t be able to take benefit from
foreign direct investment.

A country with a high birth rate will have to devote resources to hospitals and
schools which could have been used by the industry.

6. Foreign Debt

Developing countries take loans to meet their expenditures. This drains
economy'’s reserves and taxes might be raised to pump in more revenue to the
government. ;

7. Disadvantage in
International Trade

Developing countries export primary products these are not only less value added
but the supply is also not reliable as they are dependent on weather conditions etc.

This leads to the country being vulnerable to changes in the international market.

Policies to increase development

Policy Description

1. Increase . As the agricultural products are produced this will also lead to an increase in
Agricultural capital goods like tractors. This will lead to more production and lower costs for
Productivity - other industries which can make exports more competitive.

2. Export-oriented This revolves around removing trade barriers so that the local firms are forced to
industrialization become more efficient. However this might destroy the local industry if the

foreign competition is too strong.

3. Attracting foreign
direct investment

_This involves inviting multinationals which would allow the country to not only
gain more tax revenue, employment and bétter technology but might also attract

‘other MNCs in the future. '

4.'Develof)ing
Tourist market

~| This industry has high income elasticity of demand. This can result in large

amount of foreign exchange flowing in the country.

5. Population
Control

By controlling birth rate the country can reduce its deﬁe:ﬁdency ratio however it
should be remembered that these programs are not easy and take time to
implement.

6. Borrowing from
Abroad

The country can borrow from developed countries or international organizations-
like IMF and World Bank to stimulate economic growth. However they will only
work if the money is spent on developmental projects and the country generates
revenue otherwise it would accumulate large amount of foreign debt.

7. Foreign Aid

Foreign Aid (grants, loans at low interest rates for education and technical

services can assist the development if it is used in high productive projects.
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1. Lorenz Curve
Definition: A Lorenz curve is used to show the deg

i i al
general, the closer 2 Lorenz curve 15 t0 the diagon

greater is the equality in income distribution.
-
100

ree of income inequality in an economy. In
representing perfect income equality, the
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2. Gini Coefficient .

Definition: The Gini coefficient is a summary measure of income inequality, and in a Lorenz
diagram is the ratio of the area between the diagonal and the Lorenz curve, to the total area under
the diagonal. It has a value between 0 and 1:

1. The closer the value is to 0, the greater the income equality

2. The closer the value is to 1, the greater the income inequality

3. Kuznets curve This curve. shoud M‘M;E,‘aﬂd whon o eCononyy cﬁwdp%liﬂ

Definition: A Kuznets curve graphs the hypothesis that as an economy develops, market forces M
first increase and then decrease economic inequality. Kuznets curve diagrams show an inverted 1€ "QQC( ["@
U curve, although variables along the axes are often mixed and matched, with inequality or the INCveose
Gini coefficient on the Y axis and economic development, time or per-capita incomes on the*é/\ blowe ver,

AT U BEE SPLEG

Incoma per Copita

The Kuznets curve implies that as a nation undergoes industrialization — and especially the
mechanization of agriculture — the center of the nation’s economy will shift to the cities. As
internal migration by farmers looking for better-paying jobs in urban hubs causes a significant
rural-urban inequality gap (the owners of firms would be profiting, while laborers from those
industries would see their incomes rise at a much slower rate and agricultural workers would
possibly see their incomes decrease), rural populations decrease as urban populations increase.
Inequality is then expected to decrease when a certain level of average income is reached and the
processes of industrialization — democratization and the rise of the welfare state — allow for the
benefits from rapid growth, and increase the per-capita income. Kuznets believed that inequality
would follow an inverted “U” shape as it rises and then falls again with the increase of income

peapis

AATIK TASNEEM | A2 / LEVEL: ECONOMICS (9708) | 03041122845




